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R4.3.20
141 H R4.3.17 KA i3 i FRER 100 70.0 (e E i x Bott:
:R4.3.21)

2151 A R4.4.1 NN st FET FICER 100 60 R4.4.5 ks
341 H R4.4.11 A il FET FSCER 100 45 R4.4.15 Bott
A H R4.4.18 N Viia A FICER 120 30 R4.4.22 ks
51 H R4.5.15 PN ] i3 FET HER 50 8 R4.5.20 Bot:
6451 3 R4.10.11 23K T iz BT FSCER 95 20 R4.10.14 ks
741 H R4.10.15 A iz TP ShER 70 20 R4.10.21 Bo
841 B R4.10.19 A iz e FRER 100 40 R4.10.28 Bott
9% H R4.11.15 IN=T) iz FET FICER 70 10 R4.11.18 Bott:
1061 H R4.11.17 NS i FET FSCER 65 5 R4.11.22 ks
1161H R4.11.21 IN=T) il BT FSCER 100 30 R4.11.25 ks
1261 H R4.12.27 2K T E filis& FRCER 60 10 R5.2.3 Bott:
1361 H R5.1.9 NS ot BT FSCER 75 7 R5.2.3 Bott:
1461 H R5.2.2 NS il T FICER 80 15 R5.2.7 Bott
15641 H R5.2.7 LR iz & FSCER 100 50 R5.2.14 Bott
1641H R5.2.6 el S1 i3 T FSCER 110 50 R5.2.14 Bott
1751 H R5.2.15 JLH i iz FEL FSCER 120 80 R5.2.21 Bo i
18%i1 H R5.3.2 ABIR 1T I T FICER 100 35 R5.3.7 ks
1961 H R5.3.14 LI BT Vi3 FET FiSC R 140 80 R5.3.17 Bott
20%1 A R5.4.17 L H i i3 L FSCER 100 30 R5.4.21 ks
216113 R5.4.18 AL s T il FET HER 80 10 R5.4.21 bt
221 3 R5.4.22 JLH S iz BT FSCER 130 60 R5.4.28 ks
231 H R5.4.26 WIS iz FEL FSCER 110 50 R5.5.2 Bott:
2441 B R5.6.1 REEFHT i Tl FRCER 50 60 R5.6.9 Bt
2541 H R5.6.22 0] i FET FSCER 100 50 R5.6.27 ks
261 H R5.7.3 A iz FEL FSCER 120 60 R5.7.7 Bott:
2761 A R5.8.18 N i3 FET FICER 70 20 R5.8.25 Bt
2841 H R5.8.20 Sy i3 filijE HER 40 2 R5.8.29 ks
291 A R5.8.27 NS i3 BB FSCER 100 50 R5.9.1 Bott:
30%1 A R5.9.2 YT it & FSCER 90 40 R5.9.12 Bott:
3141 H R5.9.4 Y HT it e B\l 75 15 R5.9.12 Bott:
3241 B R5.9.9 YT i3 it FSCER 90 35 R5.9.22 ks
33#1 B R6.1.4 2 A i3 e FlER 70 30 R6.1.17 Bo i
3441 H R6.1.30 JEF T Vi3 RS LN 60 15 R6.2.6 Bo it
3541 H R6.2.4 et iia T FICER 125 50 R6.2.16 Bott:
364 H R6.2.25 ZEmmT | A T SER 80 15 R6.3.4 ks
3741 H R6.2.28 T mE T iz & FSCER 60 10 R6.3.4 Bot
38451 H R6.3.3 i i3 YL FRER 120 60 R6.3.8 Bo
3961 H R6.3.12 JRFHpHT iz fHigE FRER 90 50 R6.3.15 Bo i
401 B R6.3.22 JE=S R iz FET FSCER 120 60 R6.3.29 ks




41418 R6.4.10 & 1k 1 ShER 80 8 R6.4.16

il
4241 H R6.6.2 =30t il Jii3 T DN 100 30 R6.6.7

4341 5 R6.6.15 =R JiGE it BN 140 50 R6.6.28




